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(1) BENFGA—EFZHEEEHS: n=50 t= 150

(2) WAWAE b [TXLT, $385ER p Z2E A TERL, p0ZRDHS
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# RERDKRTE BE/NTA—4
n =50, nt=(2*n+1)**2, limit=nt* 0.005 # £FENDEH* (0.5%)

# RERFA/NTA—S
ex=30, b=5, p=10, time =150, seed=1

# RER
bcount =0
LI T % ex [Bl#&YRT

fire Z/85A—4 n p b time seed TETLEZEZZH5
t « BF[E, nb «— BABERDARE, nu — £EHFEKRDAER

if nu <= limit
bcount = bcount + 1
end
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seed =seed + 1
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2. Terminal ZE)H 9 (TSUBAME LEEXEETHEND).
2.1. cd cs2kadail
2.2. Is « directory simex h\dpBDZLERER
2.3. cd simex <« simex MEPE(ZITS(CZTEELKD)
s «— J7AILEHEZELED
fire.exe ex.rb «— CNLZEFES
fire0.exe « CNITRZ 5k FxHT A
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ex.rb

# EERDIRTE :BEE/NTA—H
n=50; nt=(2*n+1)**2; limit = nt*0.005 # £FEDE®E (0.5%)

# RERRA/NTA—43
ex=30; b=5; p=10; time =150; seed =1

# RER
bcount =0
foriin (1..ex)
result = "./fire.exe #{n} #{p} #{b} #{time} #{seed}
rl, r2, r3 = result.chomp.split(/¥s*,¥s*/)
t =rl.to i
nb =r2.to |
nu =r3.to_|i
if nu <= limit
bcount = bcount + 1
end
print(t, ", ", nu, ": ", bcount, "¥n")
seed=seed+1; i=i+1
end
R = bcount.to f/ex.to f
print(p, ", ", R, "¥n")
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mkdir mkdir kadai2 | kadai2 EWN3TAHILE (B E) E1ED
cd cd kadai2 kadai2 ELVOBEEEICAD
cd .. Lt (REG)HEICES
cd ../.. TOLEDOFHEIZES
Is Is FDEHRIZHADIT7AIVERTT S
rm rm foo.rb foo.rb Z/H9 (RoEL\DTEE)
cat cat foo.txt foo.txt DR HFZEEIZKRRY Dr
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